
200 DUKE WHITE ABS 2013 <2013><EU><F8103M5>
REAR BRAKE CALIPER

14009

Pos Part Number Description Additional Text Quantity

1 90113080000 brake caliper, rear cpl. 1.00

2 90613075000 BRAKE CALIPER SUPPORT REAR ABS 1.00

3 90113090000 REAR BRAKE PADS - SET 1.00

5 90111051000 brake light switch, rear 1.00

6 90113060000 footbrake zylinder cpl. 1.00

7 90113069000 HOSE F. RESERVOIR 1.00

8 90113009000 BRAKE FLUID RESERVOIR CPL. 1.00

9 90113121000 BLEEDER SCREW 1.00

10 90113026000 COPPER GASKET 4.00

11 90113013000 BANJO SCREW 1.00

12 J025060163 HH COLLAR SCREW M6X16 SW10 1.00

13 90114060003 COLLAR BUSHING 1.00

15 90113050133 FOOT BRAKE LEVER CPL. 1.00

16 90134035000 GEAR SHIFT LEVER RUBBER 1.00

17 90134034100 HH COLLAR SCREW M8X30 SW10 1.00

18 90134031103 SPACER SHIFTING LEVER 1.00

19 J625060800 BALL BEARING 608 2.00



20 90113052000 brake pedal spring 1.00

21 J025060203 HH COLLAR SCREW M6X20 SW10 1.00

22 J934060003 HEXAGON NUT M6 1.00

23 90113057000 pin for fork end 1.00

24 J125060003 PLAIN WASHER 6,5X13X1 1.00

25 J094020153 splint pin 2x15mm 1.00

26 90113174000 RETAINING PLATE RESERVOIR 1.00

27 90113168001 BOLT M6X10 PRECOATED 2.00

28 90642003000 BRAKE HOSE ABS/MASTER CYL. RR 1.00

29 90642001000 BRAKE HOSE RR ABS TO CALIPER 1.00

30 J025060163 HH COLLAR SCREW M6X16 SW10 2.00

31 90134031020 thrust washer, gear shift leve 1.00


